
 

eg fix aint

VOTE tLIX 0 zerofunction

Clearly L crosses f
at O IT I 2T

AtXo 0 the O o can be chosen as T

If Lik I L doesn't cross f
at every intersection anti E f x 413 1 for all
X G anti E O anti Et 8 tent 1 I YOU ZF

eg fix lx suit o

o no IliffThen no lute L crosses

t at Xo 0 n

All lute L passing thro 10,0 intersects y 11 1 s

Then infinite oscillation of f neither I nasi
in the definition holds

Def A function f a b IR is said to be crosses no lines

if there is no Lix ax p crosses f

Thm The set 8 1fectab f crosses no lines

is a residual set in Cta b and hence dense



Pf Notethat
Cfab 17 1 ft CIAb I some L crosses f atsomept

where x L Xt p L PEIR
Andwe need to show that Ctab 12 is of 1stcategory

Notation Fa f ECiab and aEIR we denote

x fix DX

subtracting the linear part of L from f

let An be the set of ft Tab for which
I d E En n and XEta b such that

g f alt E fax ft E x E X tf a b

I f alt 2 fax ft E x f

Clearly An C Anti tn nice x hi x DC x ntAttn

Note that t is now the independentvariable and

f alt s f alk is exactly

fit Eat fix ax Lt t t ex ta X

Similarly f alt s fix is exactly

fit at fix xx LA HAE lx X't

ft An f crosses L at x

with Seth and slope 121 En



And if f crosses some h at some x then

fe An a ft An tasman

ft A An a f EA An Ctobeen't


